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y=Ff(x)=Ax? +Bx+C DOt =(A, B CITEHK). y& x THI L7\,

y=f(x)=A-=sin(x) OLE(AITEE). y & x THZ LRI,

y =f(x)=A-cos(x) DLE(AITEE). y%& x T LRI,

x=f(t)=k-exp(t) DOLE(LKITTE). x %t T LR EW,

x=f(t)=kIn(t) OL=(KITTHE), xZt THWH LI,

y=A(Sx2)2+B(3x2)+C OLE(A B, CIXEH). yu x THI LRI,

y=A-sin(kt) D& xE(A kITE). yE2 t THO LRI,

x=A-cos(wt+@p) DELEE(A o, el TEH). x %t THEH L7z,

x=k(I-exp(—t/T)) DL E(k, TITEK). x% t T LRI,

x=A(BEZ+Ct)cos(wt+p) DEE(A B C,B o. plTTHK). x%t THI LI,

x=k (I-exp(—t/T))sin(ot) DLZ(k T, olXTK). x% t T LRI,

x=k exp(—t/T)cos(wt) DL E(k, T, olTEH), x%& t THZ LRIV,

y=Ax? +Bx+C D& E(A, B CITEH). x=allBIT5EHROME 2 RDR IV,

x=A-cos(mt) DE=(AITTEH). t=0.25 TOEROMHEE ZRDR IV,

z=56xy2 +3x2y% O x CORM 0z/0x ZRORIV, £y TORMIT 0z/dy ZRD7IR I,

y=Ax? +Bx+C DL x(A, B CIIEHK). y% x THEHI LRI,

y=A-sin(x) OLX(AFTEK), yZ& x THIY LRI,

x=k-exp(t) DOLZ(LkITEH). x&%t THI LRI,

y=A(3x22+B(3x2)+C DLE(A, B CIIEH). y%& x T LRIV,

x=A-cos(wt+p) DLEE(A o, el TEE), xZt THI LI,
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x=k (I-exp(—t/T) ) OL&(k TITEH), x%t THSLEI\,
x=k'In(St) OLx(k SITEHK). x%t THO LRI,
y=(At-B)-cos (kt) DL %(A, B, kIIT#). y& t THY LRI,
y=Aexp(—t/T) -sin (kt) DL (A T. kITEH), yZt TR LRSI,
y=Ax* +Bx+C DL E(A, B, CIIEH), a<x<p OHIPFATHENZEEZ KDL IV,
x=A-sin(mt ) OLZ(AITEE). 0<t<0.5 OFHTHENTZEMEZRD 2SIV,
S=flpr(4x—y)dxdy #ZEK®7E\v, 7L, {D:1=x=3, 2=5y=4} L5,
S=[[prdrde #ZRKHZrEV, 7L, {D:0=r=R, 0=0=2n} &7 5,
V=lllp r? cosp drd0de ZRK®H7pEVy,  7277L, {D:0=r=R. —m/2=¢=m/2, 0= 0=2n} L7T5%,
dy/dx — Ze0s2x=0 DL XDy ZROR IV,
dy/dx + 3y=0 DL XDy ZRDIR I,
5:dy/dx + 3xy=0 DL EZDy ZRDRIV,
d2y/dx2 + 2-dy/dx — 15y=0 DL ZDy ZRDARE W,
2-d2y/dx2 — 12-dy/dx + 18y=0 D& XDy %KD X\,
d2y/dx2 — 4-dy/dx + 8y=0 D& XDy ZRDR IV,
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